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Full Marks- 70

Time -As in the Programme

The figure in the right hand margin indicate marks.

2.

Answer from All sections as directed therein.
Section-A

(Answer any Three) [12x3=36
"Management is the art of managing people".
In the light of this above statement discuss the
objective and function of management.
"Fayol suggested fourteen principles of
management which he found most ﬁeduéntly
to be applied for the management work".
Discuss. ‘
What js the importance of decision making and
what are the different decisions made by
managers at different levels in the
organizations ?

[ Cont...
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2016
Time : As.in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as directed.

Section -A

Answer any three questions of the following :
. 12x3=36

1. State the basic differences between verbal and
non-v_erbal communications.

2. Read the passage and answer the questions that
follow :
Every man is rich or poor according to the
degree in which he can afford to enjoy the
necessaries, conveniences, and amusements of
human life. But after the division of labour has
once throughly taken place, it is but a very small

PR-13/1 | ( Tum over)



(Jonowiny ) (g) L/EL —¥Hd

uognjjod [euawiuosaug (d)

YinoA uo 10949 119y} pue sjjew Buiddoys (q)
ssauisnq Buuepunel Asuow e se uoyeonp3 (e)
: Bumoyjoy aup

Jo auo Aue uo spiom 0G| Ul ydesbered e ajupp

"abessed ay) o} a3 € angy (p)

¢ ANOQE],
Buipsebas smaia s Joyine ayj aie jeypy (9)
¢ Apowiwiod
Aue Jo anjeA ay) Ag puejsiapun noA op jeymy (q)
¢, Uew you e auljoap Joyjne ay} seop moH (e)
‘pUBWILLIOD JO aseyaind 0) Wwiay) ajgeus ued
3 yoiym 1noqej jo Ajuenb ay) o} |enba Ajasioard
S| ‘suononpoid mau awos 10j )i abueyoxa o} Juem
OYM pue ‘Y ssassod oym asouy} 0} ‘anjeA s)i pue
: paseyoind Ajjeulbuo sem puom ay} Jo yjjeam ay)
Ile Jey} ‘Inoge| Aq Inq “1aAis Aq Jo pjob Aq jou sem
1 sBuiyy (je Jo} pied sem jey) Ksuow aseysind
jewbuo ay) ‘eoud )siiy ay) sem So_amu ‘Anuenb
jenba ue Jo anjeA ayj uiejuod o) awl} ay} e
pasoddns si jeym Jo} abueyoxa am yoiym ‘1noqej
jo Aguenb ulepad e Jo anjea ay) uieuod Aayl

JRLLS) : (2) LEL —¥d

10} Si) sh aAes ‘paspul ‘spoob asoy) Jjo ‘Asuow
jeyl “Apoqg umo Ino jo |10} 8y} Aq palinboe am
Jeym se yonw se ‘inogej Aq aseyaind s| ‘spoob
yum Jo ‘Asuowa yum Jybnoq s jeypa ejdoad Jayjo
ojdn asoduul ued I yoiym pue ‘faswiy o) SAes ued
¥ Yoium ajgnouy pue |10} ay} s ‘asje buiyswios
Joj ) abueyoxa 10 ‘J jOo asodsip O} Sjuem oym
pue ¥ pasinboe sey oym ueul au) 0} yuom Ajjeas
s1 Buiyuana yeypa u Buuinboe jo sjgnod) pue {10}
3l S1 ‘) aNboe 0} SJUBM OUM UBWI 3U} O} S}S00
Ajeas Buiypliana yeym ‘Buipliana Jo aoud jeas sy

"S21JPOWILOD [je JO anjeA ajqeabueyoxa
8y} JO ainsesuw |eas ay) S! ‘8i0s818Y) ‘Inoge]
‘puBWIWLOD JO aseydind o} EE S9|qeUD SI YoIym
Jnogej jo Aiinuenb ay) o} lenba si ‘sepowLLod
J9Y)0 Jo} §i abueyoxe o} JNg ‘jleswiy } SWNSUCI
JO asn 0} Jou sueaw oym pue ‘y sassassod
oym :om.__mn ay} o} ‘a10j9i9y) ‘A)powwod
Aue jo anjeA ay| ‘aseyosind o) piojje ued
3Y YOIYM JO ‘puUBWILLICD UBD B YOIUM INoge| yeyy
30 Apuenb ay; o} Buipioooe Jood Jo Yyou aq Jsnw
8y pue ‘a|doad Jayjo Jo Jnoqge| ay)} Wi} AP
ysnw ay wayy jo ped sajeasb tey ay . ‘uny Aiddns
UEd JNOQe] UMO S,UBW B YaIym yim asoys jo ped



g9 (j—bu3z)
ZoL — 32aa "PIuoD (¥) LIEL —¥d

— vani-(Ag)s| (g) (coLr/EL—Yd

3

-gjdwiexa aAte) ¢, UOHEDIUNILLIOD

[EINYNO-SS010 108)je abenbuej Apog seop MoOH
-sojdwiexa oMo ¢, apensiad pue jsanbai ‘Jorusul
‘SPUBWILLIOD USIM]] 90UaJalip 8y} Si JeUM
"901jo

INOA W0L} YoM & J0) SABS] UO 8] [[IM noA ajiym

quelsisse JNoA 0} suoonisul Uo ajou e UM

¢, Aqiessed e o} djay Jojdise
NoA pjnom Mo} juawipede mau 1nok o} Aem InoA
}S0| aAey u_.:.w Ao ayy 0}y mau e noA Jeuy aulbew)

0l =2x§ )
: Buimoj|o} 8y} Jo suonsanb omy Aue 1omsuy

9 - uopoes

"ydebe.ed e u) aouaiayoo Buinsiyoe
ul djay siaxull moy moys o} sajdwexs aAI9)
‘ydeibesed e u) siaxuy) jo souepodw ay} oje)g
"suolssaidxa ayjod Jo asn axeyy Juspn}s mau e 0}

1208 Aemjies e Bunjooq jo sseooid ayy aquoseqg

‘Buionposui
ue yeiq ‘wes| spods 969j00 1noA Jo siequisw

9y} 0} puauy JnoA Buronpouui ase noA jeyy suibew|

"ssnasiq “oalqns ayj jo Buipueys
-19pun aiow sapnjou; uoisuayaidwod Buipeay

"sajdwexa yum uiejdx3 “abenbuej Apoq suyeg

vZ =¢€x8
: Bumojjo ey} Jo suonsanb sy Aue Jamsuy

g — uondeg

"sa|dwexa sAID) ¢, padojansp aq ued
ydeiBesed e yoiym ul spoyjaw Juasayip ay) ase

JeUuM ¢ ydeibeled e u) adusjuas a1do) e si Jeypn

¢ Bunjeads aygnd poob jo sjuswiale ay} ase Jeypn



IS(Syr)-IMBA — DDCE-103
(BM)R&B
2016
Time : As in Programme

Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.
Section-A

Answer any three questions : 12x3 = 36
Aand B enter into partnership. A supplies whole
of the cépital accounting to Rs. 45,000 with the
condition that profit are to be equally divided and
B pays an interest on half the capital at 10% per
. annum, but receives Rs. 120 per month for
carrying on the concern. Find their total yearly
profit when B’s income is one half of A's income.

A sum was lent at compound interest for 2 years
at 20% p. a. If the interest is added half yearly
then Rs. 482 are received more, find the sum.

PR -14/3 (Turn over)
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Time : As in Programme

Full Marks : 70

The figures in the right-hand margin indicate marks.

4.

5.

Answerfrom all the Sections as directed.
Section-A
Answer any three questions of the following : _
12x3 =36
What is Psychology ? Discuss: its nature and

scope.

What is Operant Conditioning ? Discuss the
schedules of reinforcement.

What are the theories of forgetting from long-term
memory ?

Discuss any two theories of Motivation in brief.

What are the tactics of compliance ?

PR -15/1 (Tum over)



Section-B

Answer any three questions of the following :
8x3=24

Describe the structure and function of Neurons.

Discuss about the Oraganizing Principles of
Perception.

What is episodic and semantic memory ?

What is i‘ﬁtélligence ? How can it be measured ?

Write a short note on the Origin of Prejudices.
-Section—C

Answer any two questions of the following :
5x2=10

Write about Observational Method.
What is Sensory Adaptation ?
What is lllusion and what are its types ?

Write a short note on Love.

%k

PR~ 15/1(100) (2) IS(5yr)-IMBA —
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2016

Time : As in Programme
Fu)l Marks : 40
The figures in the right-hand margin indicate marks.
Answer from all the Sections as directed.
Section -A

Answer any two questions of the following :

1. List out the key hardware and software
technologies used in building the cbmputers of
each of the five generations. 12

2. Differentiate between impact and Non-impact
printers. Give their relative advantages and
disadvantages. Name few printers of both types.

12

3. What are the different ways of acquiring a
software ? List out their relative advéntages and
limitations. 12

PR-16/1 (Tum over)
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